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(1) BEINIE
EAE 9,917, 000 9, 964, 120 9, 845, 000 101%
=% 8, 275, 000 8, 444, 120 8, 275, 000 100%
i=VIESE - 1, 620, 000 1, 520, 000 1,570, 000 103%
AESL 0 0 0 0%
&% 22, 000 0 0
HEN 2 87 4, 368 1, 000 9%
= BUH] B A 87 4, 368 1,000 9%
BAMEH R SHE—IEEREE 62, 267 62, 267 62, 267 100%
BRI R E 9,979, 354 10, 030, 755 9, 908, 267 101%
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1) FEE 7, 800, 620 5,910, 266 8, 260, 000 94%
BEEHE 3, 100, 651 1,174, 806 3, 400, 000 91%
GBI A 137, 697 132, 794 160, 000 86%
VHFEL B 47,317 92, 725 150, 000 32%
INEHEE 137, 500 133, 650 160, 000 86Y%
BEE 177, 455 176, 291 190, 000 93%
EBEEE 4, 200, 000 4, 200, 000 4, 200, 000 100%
2)EHE 1, 938, 952 2,091, 144 2, 260, 000 86%
EHRE 0 0 100, 000 0%
SR 96, 770 93, 447 130, 000 74%
EEE 1,373,539 1, 488, 222 1, 380, 000 100%
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AR RE 70, 000 70, 000 70, 000 100%
NG 0 0 0
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M EERMENRES 8, 695, 123 8, 455, 451 7,843,718 111%
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